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INDUSTRIAL MINERALS 

Time : 2 Hours     Maximum Marks : 50 

Note : (i)  All questions are compulsory. 

 (ii)  Marks allotted for each question are 

indicated against it. 

 (iii) Draw well-labelled diagrams wherever 

necessary. 

1.  Briefly answer any five of the following 

questions :  5×2=10 

(a) Define bireflectance . 

(b) What are epigenetic ore deposits ? 

(c) Define metallogenic epoch.  

(d) Differentiate syngenetic and epigenetic ore 

deposits. 

(e) Name any two ores associated with 

arenaceous rocks.     
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(f) List any four ore minerals of aluminium. 

(g) What are reservoir rocks ?  

(h) Differentiate stratigraphic guide and litho 

logical guide used in mineral exploration.    

(i) What is open door policy ? 

(j) What is gravity method in sub-surface 

exploration ? 

2. Write short notes on any four of the following :  

4×5=20 

(a) Residual liquid injection.  

(b) Breccia filling deposits.  

(c) Kuroko-type deposits. 

(d) Autochthonous and allochthonous deposits.      

(e) Magnetotelluric method.  

(f) Mineralogical guides used in exploration.   

(g) Physical properties of chromite and 

pyrolusite.  

3. Answer any one of the following : 1×10=10 

(a) Discuss in detail the mode of occurrence 

and distribution of fertilizer minerals in 

India.    

(b) Discuss the process of oxidation and 

supergene enrichment with the help of a 

well labelled diagram.  
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4. Answer any one of the following : 1×10=10 

(a) (i) Discuss the progress in the theories of 

ore forming processes in the 20th 

century. 

 (ii) Give a brief account of the stratiform 

and stratabound type of ore deposits 

with suitable examples. 

Or 

(b) (i) Discuss the stages of mineral 

exploration.  

 (ii) Discuss the salient features of the 

National Mineral Policy 2019.    
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